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of extended spoken Spanish texts
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Achievement

Achievement with Merit

Achievement with Excellence

Demonstrate understanding of a variety
of extended spoken Spanish texts.

Demonstrate clear understanding of
a variety of extended spoken Spanish
texts.

Demonstrate thorough understanding of
a variety of extended spoken Spanish
texts.

Check that the National Student Number (NSN) on your admission slip is the same as the number at the

top of this page.

Listen to THREE passages. You will hear EACH passage THREE times:

. The first time, you will hear the passage as a whole.

. The second and third times, you will hear the passage in sections, with a pause after each.

. As you listen, you may make notes in the LISTENING NOTES boxes provided.

. Before each passage begins, you will have 30 seconds per question to preview the questions.

. At the end of each passage, you will have time to review your answers.

You should attempt ALL the questions in this booklet.

Answer each question in your choice of English, te reo Maori, and/or Spanish. If you need more room
for any answer, use the extra space provided at the back of this booklet.

Check that this booklet has pages 2—15 in the correct order and that none of these pages is blank.

YOU MUST HAND THIS BOOKLET TO THE SUPERVISOR AT THE END OF THE EXAMINATION.

Merit

TOTAL

16
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QUESTION ONE

Overall, is tourism beneficial for Barcelona? Explain why, or why not, and support your answer with
the positive AND negative effects mentioned in the passage.
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There is more space for you to answer this question on page 4 »
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QUESTION TWO

(a) Describe why Mario thinks his mother is a hypocrite, using detailed evidence from the
passage to justify your answer.
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Question Twcyc{)ntinues on page 8 »
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(b) Explain how Mario's mother might counter Mario's arguments, using details from the passage ASSESSOR'S
to justify your answer.
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QUESTION THREE

According to this podcast, in what ways can pedal-powered machines benefit people and be a
sustainable option for a rural community?

Justify your answer with specific evidence from the passage.
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There is more space for you to answer this question on page 12 »
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Subject | Spanish Standard | 91568 | Overall grade | 16
Q Grade Annotation
This question is at M5 because the candidate clearly communicates some of
the more specific relevant detail when justifying their answer. However, they
have not demonstrated enough understanding to communicate inferred
meaning, nor have they picked up on some of the more complex detail needed
to gain higher than M5. For example:
¢ they identified that tourism was great for local businesses like hotels and
that accommodation for locals was limited due to tourists staying in flats or
apartments. However, they did not infer that tourists staying in flats and
1 M5 apartments could be bad for the hotel business
¢ they identified that queues of tourists outside the Sagrada Familia was an
issue, but said that tourists also aided with its construction. However, they
incorrectly stated that Barcelona was considered charming when the
speaker had stated that it had lost its charm
o they identified that tourism diminished local culture, but didn’t justify this with
the evidence of the local culture being reduced to stereotypes
e they mentioned that jobs in tourism are over the summer period, but failed to
connect this to this work being unstable.
This question is M6 because the candidate clearly communicates most of the
more specific relevant detail when justifying their answer. However, they have
not demonstrated enough understanding to communicate specific inferred
meaning needed for Excellence, nor have they picked up on some of the more
complex detail needed to gain higher than M6. For example:
e they mentioned that Mario’s Mum thinks he should respond to her calls
2 M6 when he is out. However, they did not connect this with Mario thinking his
mum is a hypocrite for telling him to not be on his phone so much and then
telling him to be on his phone to answer her calls
e they failed to mention how Mario’s mum said he should spend more time
outside
o they also incorrectly stated that Mario complains that he doesn’t see his
mother enough.
This question is M5 because the candidate clearly communicates some of the
more specific relevant detail when justifying their answer. However, they have
not demonstrated enough understanding to communicate inferred meaning, nor
. M5 have they picked up on some of the more complex detail needed to gain higher

than M5. For example:
o they failed to mention that any appliance could be pedal powered

¢ they stated that such machines can allow communities to wash clothes
manually. However, didn’'t mention carrying out domestic tasks.
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